2. Eslz amor como un sdl

Lento

pizz.

A
I Jg
T

e

(3]
e)

[#)

[§ ]

Cresc,

mf

#fsubiti———n

I
E= 3

I ge
1. Wi

y
[}
¥
P

1z %

T &%
Ay
1

#

g

Cresc.

rall,

h—{:

unis.

(40)

I

|
*
»
div.

a tempo

LT
7 ] i | |
_.C&

Wi

P

T
|

| |
 J— | I—

Esiat
S
-
A
.
e
{
TTTe
ol
&
T
R
-||L~
NE
Pan

mf

|

..Wu,
1

Cresc.

-4 - violin 2°



unls

rallenk.

g4

W 1R,

N

2
!
Lol

|l VI, )
[
4

T & T

- 2

b

dim.

LA

Jﬁb f

ShIEN
anmwa

bl

-5 - violin 2°




	Violin 2, Mov 2, Este amor como un sol 1
	Violin 2, Mov 2, Este amor como un sol 2

